ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
ABOR/EQ O A
» O DETA 0 O » PTIO A AL CO OTA
A 0 OR CO O
GENERAL CONDITIONS
General Requirements
- Mobilization / Demobilization
- Temporary facilities
- Daily & Final clean up
1 - Clos.e out procedures & Docum'e'ntation 1 0% 1 Ls 4REE! 4REEI
- Project management & Supervision
- Coordination w/ other trades
- Permit & Fees
Testing of imported fill
- Hydraulic calculations must include a hose allowance
Sub Total #REF!
03 00 00 CONCRETE
CONT. FOOTINGS
CONT. FOOTING F18
2 S1.1 Sch./S1.1 Concrete, 3000 PSI 90| 10% 99 cY HREF! HREF! HREF!
3 S1.1 Sch./S1.1 2-#4 Cont. bars. 1194 10% 1,314 LB HREF! HREF! HREF!
4 S1.1 Sch./S1.1 #4 @ 36" OC. Trans. Bars. 300 10% 330 LB HREF! HREF! HREF!
5 S1.1 Sch./S1.1 Excavation 150 10% 165 cY HREF! HREF! HREF!
6 S1.1 Sch./S1.1 Backfill 60| 10% 66 cY HREF! HREF! HREF!
7 S1.1 Sch./S1.1 Formwork 32331 10% 3,556 | SFCA HREF! HREF! HREF!
CONT. FOOTING F18A
8 S1.1 Sch./S1.1 Concrete, 3000 PSI 64| 10% 70 cY HREF! HREF! HREF!
9 S1.1 Sch./S1.1 2-#4 Cont. bars. 1835| 10% 2,019 LB HREF! HREF! HREF!
10 S1.1 Sch./S1.1 #4 @ 36" OC. Trans. Bars. 460 10% 506 LB HREF! HREF! HREF!
11 S1.1 Sch./S1.1 Excavation 106| 10% 117 cY HREF! HREF! HREF!
12 S1.1 Sch./S1.1 Backfill 42| 10% 47 cY HREF! HREF! HREF!
13 S1.1 Sch./S1.1 Formwork 2290 10% 2,518 | SFCA HREF! HREF! HREF!
CONT. FOOTING F30
14 S1.1 Sch./S1.1 Concrete, 3000 PSI 5 10% 6 cY HREF! HREF! HREF!
15 S1.1 Sch./S1.1 4-#4 Cont. bars. 80| 10% 88 LB HREF! HREF! HREF!
16 S1.1 Sch./S1.1 #4 @ 36" OC. Trans. Bars. 19| 10% 21 LB HREF! HREF! HREF!
17 S1.1 Sch./S1.1 Excavation 7] 10% 8 cY HREF! HREF! HREF!
18 S1.1 Sch./S1.1 Backfill 2| 10% 3 cY HREF! HREF! HREF!

Page 1 of 33




PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION . UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
19 S1.1 Sch./S1.1 Formwork 109 10% 120 | SFCA HREF! #REF! #REF!
CONT. FOOTING F12A
20 S1.1 Sch./S1.1 Concrete, 3000 PSI 2 10% 2 cY HREF! #REF! #REF!
21 S1.1 Sch./S1.1 2-#4 Cont. bars. 80 10% 88 LB #REF! #REF! #REF!
22 S1.1 Sch./S1.1 #4 @ 36" OC. Trans. Bars. 14 10% 16 LB #REF! #REF! #REF!
23 S1.1 Sch./S1.1 Excavation 4] 10% 4 cY #REF! #REF! #REF!
24 S1.1 Sch./S1.1 Backfill 2 10% 2 cY #REF! #REF! #REF!
25 S1.1 Sch./S1.1 Formwork 100 10% 109 | SFCA #REF! #REF! #REF!
Sub-Total #REF!
SLAB ON GRADE
26 s1.1 50.2 183 ¢y |+ Concrete slabon grade, 3000 Psi W/ 6x6 10/10 WWM O 13636| 10% 15,000 | SF HREF! HREF! HREF!
glass fiber mesh reinforcement.
27 S1.1 S0.2 2-#3 Bars. X 2'-6" long at Re-entrant corners 92| 10% 102 LB H#REF! #REF! #REF!
28 S1.1 S0.2 Vapor barrier 13636 10% 15,000 SF S - #REF! #REF!
29 S1.1 S0.2 4" #57 Stone 167 10% 183 cY #REF! #REF! #REF!
30 S1.1 S0.2 Control Joints 2182 10% 2,400 LF #REF! #REF! #REF!
31 S1.1 S0.2 Expansion Joints 1091 10% 1,200 LF H#REF! #REF! #REF!
32 S1.1 S0.2 4" Edge form 759 10% 835 LF #REF! #REF! #REF!
33 S1.1 S0.2 R-10 2" Rigid insulation at slab edge 1647 10% 1,812 SF S - HREF! HREF!
THICKENED EDGE
34 S1.1 S0.2 Concrete, 3000 PSI 3| 10% 3 cY H#REF! HREF! #REF!
35 S1.1 S0.2 1-#4 Cont. bars. 608 10% 669 LB #REF! #REF! #REF!
36 S1.1 S0.2 4" Edge form 759 10% 835 LF #REF! #REF! #REF!
SLAB RECESS
37 S1.1 S0.2 Concrete, 3000 PSI 0.07 10% 0.07 CY #REF! #REF! H#REF!
38 S1.1 S0.2 1-#4 Cont. bars. 13 10% 15 LB #REF! #REF! H#REF!
39 S1.1 S0.2 4" Edge form 17 10% 19 LF #REF! #REF! H#REF!
Sub Total #REF!
SPOIL HAULAGE
40 S1.1 S0.2 Spoil haulage (20 CY/LOAD) 7 0% 7 | LOADS #REF! #REF! #REF!

Page 2 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION . UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
Sub Total #REF!
06 00 00 WOOD, PLASTIC & COMPOSITES
2ND FLOOR
FLOOR SHEATHING
41 $2.1-54.5 23/32" T&G OSB Subfloor 9415 10% 10,357 SF S - H#REF! H#REF!
SHEARWALL SHEATHING
42 S2.1-54.5 SW-1: 7/16" OSB External Face Sheathing 662 10% 728 SF S - HREF! #REF!
43 $2.1-54.5 SW-2: 7/16" OSB Plenum Side Sheathing 1974 10% 2,171 SF S - #REF! #REF!
44 S2.1-54.5 SW-4: 5/8" Gypsum 2 sided Sheathing 1312 10% 1,444 SF S - HREF! #REF!
HOLD DOWN
45 $2.1-S4.5 H6: Hold Down 200 0% 200 EA S - #REF! #REF!
46 $2.1-S4.5 DTT2Z: Hold Down 340 0% 340 EA S - #REF! #REF!
47 $2.1-S4.5 HDU2: Hold Down 214 0% 214 EA S - #REF! #REF!
48 $2.1-S4.5 MST49: Hold Down 88 0% 88 EA S - #REF! #REF!
49 $2.1-S4.5 LGT2: Hold Down 14 0% 14 EA S - #REF! #REF!
FLOOR FRAMING
50 $2.1-S4.5 F1: Pre-manufactured 18" Floor Trusses @24" O.C 3811 10% 4,192 LF S - #REF! #REF!
51 $2.1-54.5 F2: Pre-manufactured 18" Floor Gable Truss 594 10% 653 LF S - #REF! HREF!
52 $2.1-54.5 F3: Pre-manufactured 15" Floor Girder Truss 35 10% 38 LF S - #REF! HREF!
53 S2.1-S4.5 L1: Breezeway Ledger 112 10% 123 LF S - HREF! #REF!
54 $2.1-S4.5 J1: Pressure Treated 2x10 Joists @16'" OC 396 10% 436 LF S - #REF! #REF!
55 $2.1-S4.5 R8: 2x8 Rafters @ 24" 0.C 188 10% 207 LF S - HREF! HREF!
56 $2.1-S4.5 (2) PLY 2x4 Hold Down Stud 36 0% 36 EA S - HREF! HREF!
57 $2.1-S4.5 (3) PLY 2x4 Roof Girder Stud Column 72 0% 72 EA S - #REF! #REF!
58 S$2.1-54.5 (2) 2x4 PLY Beam B1 Stud Column 1st Level 48 0% 48 EA S - #REF! #REF!
59 S$2.1-54.5 (2) 2x4 PLY Beam B1 Stud Column 1st & 2nd Level 16 0% 16 EA S - #REF! #REF!
60 S$2.1-54.5 (3) PLY 2x4 Hold Down Stud 6 0% 6 EA S - #REF! #REF!
61 $2.1-54.5 Roof Beam B2 Jack / King Studs 8 0% 8 EA S - HREF! HREF!
62 $2.1-S4.5 Studs to match header jack / king studs above 10 0% 10 EA S - #REF! #REF!
63 $2.1-54.5 Double Chord Top Bearing Trusses 8 0% 8 EA S - HREF! HREF!
64 S$2.1-54.5 Hang Trusses 8 0% 8 EA S - #REF! #REF!
WOOD BEAM / HEADER
65 S$2.1-54.5 H1: Dropped Header: (2) PLY #2 SYP 2x10 467 10% 514 LF S - #REF! #REF!

Page 3 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION . UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
66 S2.1-54.5 H2: Dropped Header: (2) PLY 1.75"x9.25" 2.1E LVL 34 10% 37 LF S - #REF! #REF!
67 S2.1-54.5 B1: Breezeway Floor Beam 3.5"x11.25" 80 10% 88 LF S - HREF! HREF!
68 S2.1-54.5 B4: Breezeway Roof Beam (2) PLY #2 SYP 2x10 128 10% 141 LF S - HREF! HREF!
3RD FLOOR
FLOOR SHEATHING
69 $2.1-54.5 23/32" T&G OSB Subfloor 8877 10% 9,765 SF S - HREF! H#REF!

SHEARWALL SHEATHING

70 S2.1-54.5 SW-1: 7/16" OSB External Face Sheathing 662 10% 728 SF S - HREF! #REF!
71 $2.1-54.5 SW-2: 7/16" OSB Plenum Side Sheathing 1974 10% 2,171 SF S - #REF! #REF!
72 S2.1-S4.5 SW-4: 5/8" Gypsum 2 sided Sheathing 1312 10% 1,444 SF S - HREF! #REF!
HOLD DOWN
73 $2.1-S4.5 H6: Hold Down 200 0% 200 EA S - #REF! #REF!
74 $2.1-S4.5 DTT2Z: Hold Down 340 0% 340 EA S - #REF! #REF!
75 $2.1-S4.5 HDU2: Hold Down 214 0% 214 EA S - #REF! #REF!
76 $2.1-S4.5 MST49: Hold Down 88 0% 88 EA S - #REF! #REF!
77 $2.1-S4.5 LGT2: Hold Down 14 0% 14 EA S - #REF! #REF!

FLOOR FRAMING

78 $2.1-S4.5 F1: Pre-manufactured 18" Floor Trusses @24" O.C 3837 10% 4,221 LF S - #REF! #REF!
79 $2.1-54.5 F2: Pre-manufactured 18" Floor Gable Truss 591 10% 650 LF S - HREF! HREF!
80 $2.1-54.5 F3: Pre-manufactured 15" Floor Girder Truss 33 10% 36 LF S - HREF! HREF!
81 S2.1-S4.5 L1: Breezeway Ledger 160 10% 176 LF S - HREF! #REF!
82 $2.1-S4.5 (2) PLY 2x4 Hold Down Stud 36 0% 36 EA S - #REF! #REF!
83 $2.1-S4.5 (3) PLY 2x4 Roof Girder Stud Column 72 0% 72 EA S - #REF! #REF!
84 S2.1-54.5 (2) 2x4 PLY Beam B1 Stud Column 1st Level 48 0% 48 EA S - HREF! #REF!
85 $2.1-S4.5 (2) 2x4 PLY Beam B1 Stud Column 1st & 2nd Level 16 0% 16 EA S - #REF! H#REF!
86 $2.1-S4.5 (3) PLY 2x4 Hold Down Stud 24 0% 24 EA S - #REF! H#REF!
87 $2.1-S4.5 Roof Beam B2 Jack / King Studs 8 0% 8 EA S - #REF! H#REF!
88 $2.1-54.5 Double Chord Top Bearing Trusses 8 0% 8 EA S - HREF! HREF!
89 $2.1-S4.5 Hang Trusses 8 0% 8 EA S - #REF! H#REF!
WOOD BEAM / HEADER
90 $2.1-S4.5 H1: Dropped Header: (2) PLY #2 SYP 2x10 446 10% 491 LF S - #REF! #REF!
91 $2.1-S4.5 H2: Dropped Header: (2) PLY 1.75"x9.25" 2.1E LVL 52 10% 57 LF S - #REF! #REF!
92 S2.1-54.5 B1: Breezeway Floor Beam 3.5'"x11.25" 116 10% 128 LF S - #REF! #REF!

Page 4 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION UNIT TOTALCOST  SUBTOTALS
. COST COST TOR COST COST
ROOF FLOOR
ROOF SHEATHING
93 $2.1-54.5 7/16" OSB Roof Sheathing 9583 10% 10,541 SF S - HREF! HREF!
ROOF FRAMING
94 $2.1-54.5 R1: Pre-manufactured Roof Truss @ 24" O.C 4204 10% 4,624 LF S - #REF! #REF!
95 $2.1-S4.5 R2: Pre-manufactured Roof Gable Truss @ 96" O.C 291 10% 320 LF S - #REF! #REF!
96 $2.1-S4.5 R3: Pre-manufactured Roof Gable Truss @ 96" O.C 524 10% 576 LF S - #REF! #REF!
97 $2.1-54.5 R4: Pre-manufactured Roof Valley Truss @ 24" O.C 1023 10% 1,125 LF S - #REF! #REF!
98 S2.1-54.5 R5: Pre-manufactured (2) PLY Roof Girder Truss 40 10% 44 LF S - HREF! #REF!
99 S2.1-S4.5 R6: Pre-manufactured (2) Ply Roof Girder Truss 106 10% 117 LF S - HREF! #REF!
100 | S2.1-S4.5 R7: 2x8 Outlooks @24" 0.C 563 10% 619 LF S - H#REF! H#REF!
101 $2.1-S4.5 Valley Truss 418 10% 460 LF S - #REF! #REF!
102 | S2.1-S4.5 Field Framed Cricket 641 10% 705 SF S - #REF! #REF!
103 $2.1-S4.5 2x4 Lateral Bracing @ 16" O.C 834 10% 917 LF S - #REF! #REF!
104 | S2.1-54.5 Hanger Per Trusses 50 0% 50 EA S - HREF! #REF!
WOOD BEAM
105 | S2.1-54.5 B1: Breezeway Floor Beam 3.5"x11.25" 223 10% 245 LF S - HREF! #REF!
106 | S2.1-54.5 B2: Breezeway Roof Beam (2) Ply 1.75" x 9.25" LVL 52 10% 57 LF S - HREF! #REF!
107 | S2.1-54.5 B3: Breezeway Roof Beam (2) Ply 32 Syp 2x10 232 10% 255 LF S - HREF! #REF!
Sub Total #REF!
STAIR
A101- . e At
108 A102 Stair Steps (4'-4" x 0'-11" x 0'-6") 144 0% 144 EA S - HREF! HREF!
A101- . . T
109 A102 Stair Landing (9'-5" x 6'-0") 4 0% 4 EA S - #REF! #REF!
Sub Total #REF!
RAILING
A101- -
110 A105 Steel Handrailing 162 10% 179 LF S - HREF! HREF!
A101- .
111 A105 Steel Guardrailing 174 10% 191 LF S - HREF! HREF!

Page 5 of 33




PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION UNIT LCOST SUBTOTALS
. COST COST TOR COST COST
Sub Total #REF!
07 00 00 THERMAL AND MOISTURE PROTECTION
ROOFING
112 A107 30 Year Anti Fungal Architectural Shingles (6:12 Slope) 6630 10% 7,293 SF $ - #REF! #REF!
113 A107 30 Year Anti Fungal Architectural Shingles (8:12 Slope) 2968 10% 3,265 SF $ - #REF! #REF!
114 A107 30 # Bldg. Felt 9598 10% 10,558 | SF $ - #REF! #REF!
115 A107 Attic R-38 Blown Cellulose Insulation 9598 10% 10,558 SF S - #REF! #REF!
116 A101 Standing Seam Metal Roof Color 3 434 10% 477 SF S - HREF! #REF!
117 A107 30 # Bldg. Felt 434 10% 477 SF S - #REF! #REF!
Sub Total #REF!
ROOF ACCESSORIES
A201- . . .
118 A202 Vinyl Trim Roof Fascia 767 10% 843 LF S - H#REF! H#REF!
119 A107 Aluminum Gutter 611 10% 672 LF S - #REF! #REF!
120 A107 Aluminum Downspouts 350 0% 350 LF S - HREF! #REF!
121 A107 Ridge Vent 130 10% 143 LF S - #REF! #REF!
122 A107 Vented Vinyl Soffit Panel 657 10% 723 LF S - HREF! #REF!
123 A107 Drip Edge 657 10% 723 LF S - #REF! #REF!
124 A107 Flashing 541 10% 595 LF S - #REF! #REF!
125 A107 Ridge Cap 337 10% 371 LF S - #REF! #REF!
126 AAZZ(Z)IZ Vinyl Trim Beam 116 10% 128 LF S - H#REF! H#REF!
127 A107 Attic Separation Access Door 5 10% 6 EA S - HREF! #REF!
128 AL07 2' Wide x 3/4 I.’Iywood Afttlc Walkway, Install R-30 Insulation 333 10% 366 < S ) 4REEI 4REEI
Before Installation of Attic Walkway
129 A107 Lockable 22" x 36" Insulated Attic Access Panel 2 0% 2 EA S - HREF! HREF!
130 A107 Wood Framed Attic Draft stopping Wall 259 10% 285 LF S - #REF! #REF!
Sub Total #REF!
EXTERIOR FACEDE
A201- .
131 A202 Brick Veneer 865 10% 952 SF S - #REF! #REF!

Page 6 of 33




PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID #REF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSINO. DESCRIPTION . UNIT . COST CoST TOR COST COST TOTAL COST  SUBTOTALS
A201- . .
132 A202 Brick Rowlock Sill 422 10% 464 LF $ - H#REF! HREF!
A201- . .
133 A202 Brick Soldier Course 181 10% 199 LF S - HREF! HREF!
A201- ) - " :
134 A202 Vinyl Siding 4" Horizonal Color-1 2320 10% 2,552 SF S - #REF! #REF!
A201- ) - " :
135 A202 Vinyl Siding 4" Horizonal Color-3 3416 10% 3,758 SF S - HREF! HREF!
A201- ) - " :
136 A202 Vinyl Siding 5" Horizonal Color-2 3626 10% 3,989 SF S - HREF! HREF!
A201- ) -
137 A202 Vinyl Siding Board & Batten Color-1 971 10% 1,068 SF S - HREF! HREF!
A201- ) )
138 2202 Vinyl Trim Corner 551 10% 606 LF S - #REF! #REF!
A201- ) ) .
139 2202 Vinyl Trim Horizontal 248 10% 273 LF S - #REF! #REF!
A201-
140 2202 PVC Column Cover 8 0% 8 EA S - #REF! #REF!
A201- -
141 2202 PVC Guardrailing 37 10% 41 LF S - #REF! #REF!
A201- .
142 A202 PVC Decorative Bracket B.O.D "Fypon" BKT 18 x 24 x 4 34 0% 34 EA S - H#REF! H#REF!
A201- ) .
143 A202 Vinyl Louver (Triangular Louver) 10 0% 10 EA S - H#REF! HREF!
1424 A201- Addrfess Sign 36x14 Laser Cut 16GA. Stainless W/0.17 Blue ) 0% ) EA S ) HREF! HREF!
A202 Acrylic Backer
A201- ) . .
145 A202 Flashing @ Overall Exterior Openings 1634 10% 1,798 LF S - H#REF! H#REF!
A201- ; . -
146 A202 UL# 305 Vinyl Lap Siding Building Wrap At Breezeway Wall 6543 10% 7,197 SF S - HREF! #REF!
Sub Total #REF!
08 00 00 OPENINGS
DOOR & FRAMES
1ST FLOOR
147 A101- Door Type D-O:I..: Metal Clad.6 Panel Single Door With Wood 17 0% 17 EA S ) 4REFI 4REFI
A102 Frame (3'-0" Wide x 6'-8" Height)

Page 7 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID #REF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSINO. DESCRIPTION UNIT . COST CoST TOR COST COST TOTAL COST  SUBTOTALS
148 A101- Door Type D-Og: Hard Board'6 Panel Single Door With Wood 3 0% 3 EA S i HREFI HREFI
A102 Frame (2'-0" Wide x 6'-8" Height)
149 A101- Door Type D-Og: Hard Board'6 Panel Single Door With Wood 5 0% 5 EA S i HREFI HREFI
A102 Frame (2'-4" Wide x 6'-8" Height)
150 Al101- Door Type D-02.: Hard Boardv6 Panel Single Door With Wood 5 0% 5 EA S ) 4REFI HREFI
A102 Frame (2'-6" Wide x 6'-8" Height)
151 Al101- Door Type D-02.: Hard Boardv6 Panel Single Door With Wood 31 0% 31 EA S ) 4REFI HREFI
A102 Frame (3'-0" Wide x 6'-8" Height)
152 Al101- Door Type D-03: Hard. Board 6 Pane.l Double Door With 14 0% 14 EA S ) 4REFI HREFI
A102 Wood Frame (4'-0" Wide x 6'-8" Height)
153 Al101- Door Type D-03: Hard. Board 6 Pane.l Double Door With 3 0% 3 EA S ) 4REFI HREFI
A102 Wood Frame (6'-0" Wide x 6'-8" Height)
2ND FLOOR
154 Al101- Door Type D-O:I..: Metal Cladv6 Panel Single Door With Wood 16 0% 16 EA S ) 4REFI HREFI
A102 Frame (3'-0" Wide x 6'-8" Height)
155 Al101- Door Type D-02.: Hard Boardv6 Panel Single Door With Wood 3 0% 3 EA S ) HREF! HREF!
A102 Frame (2'-4" Wide x 6'-8" Height)
156 Al101- Door Type D-02.: Hard Boardv6 Panel Single Door With Wood 3 0% 3 EA S ) HREF! HREF!
A102 Frame (2'-6" Wide x 6'-8" Height)
157 A101- Door Type D-02.: Hard Boardv6 Panel Single Door With Wood )8 0% )8 EA S ) HREF! HREF!
A102 Frame (3'-0" Wide x 6'-8" Height)
158 A101- Door Type D-03: Hard. Board 6 Panél Double Door With 14 0% 14 EA S ) HREF! HREF!
A102 Wood Frame (4'-0" Wide x 6'-8" Height)
159 A101- Door Type D-03: Hard. Board 6 Panél Double Door With 3 0% 3 EA S ) HREF! HREF!
A102 Wood Frame (6'-0" Wide x 6'-8" Height)
3RD FLOOR
160 Al101- Door Type D-O]..: Metal Clad.6 Panel Single Door With Wood 16 0% 16 EA S ) 4REEI 4REEI
A102 Frame (3'-0" Wide x 6'-8" Height)
161 A101- Door Type D-02.: Hard Board.6 Panel Single Door With Wood 3 0% 3 EA S ) 4REEI 4REEI
A102 Frame (2'-4" Wide x 6'-8" Height)
162 Al101- Door Type D-02.: Hard Board.6 Panel Single Door With Wood 3 0% 3 EA S ) 4REEI 4REEI
A102 Frame (2'-6" Wide x 6'-8" Height)
163 A101- Door Type D-02.: Hard Board.6 Panel Single Door With Wood 78 0% 78 EA S ) 4REFI 4REFI
A102 Frame (3'-0" Wide x 6'-8" Height)
164 A101- Door Type D-03: Hard. Board 6 Panc?l Double Door With 14 0% 14 EA S ) 4REFI 4REFI
A102 Wood Frame (4'-0" Wide x 6'-8" Height)

Page 8 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
165 A101- Door Type D-03I: I-!Iard. BoardI 6 fane?I Double Door With 8 0% 3 EA S i HREFI HREFI
A102 Wood Frame (6'-0" Wide x 6'-8" Height)
Sub Total #REF!
WINDOWS
1ST FLOOR
166 Al101- W.lndow Type Y\I-Ol: Sllngle Hung Vinyl Window-Single (3'-0 ) 0% ) EA S ) 4REFI HREFI
A102 Wide x 5'-0" Height) 1" Insulated Glass
167 Al101- Wlnd.OW Tvlpel\I\I-QZ: Single Hung Vinyl Window- Double (6'- 2 0% 2 EA S ) 4REFI HREFI
A102 0" Wide x 5'-0" Height) 1" Insulated Glass
168 Al101- W.lndow Type Y\I-O3: Sllngle Hung Vinyl Window-Single (3'-0 ) 0% ) EA S ) 4REFI HREFI
A102 Wide x 3'-0" Height) 1" Insulated Glass
2ND FLOOR
160 Al101- W.lndow Type Y\I-Ol: Single Hung Vinyl Window-Single (3'-0 4 0% 4 EA S ) 4REFI HREFI
A102 Wide x 5'-0" Height) 1" Insulated Glass
170 A101- Wlnqow Type w-qz: Single Hung Vinyl Window- Double (6'- 2 0% 2 EA S ) HREF! HREF!
A102 0" Wide x 5'-0" Height) 1" Insulated Glass
3RD FLOOR
171 Al101- W.lndow Type W-OI: Single Hung Vinyl Window-Single (3'-0 4 0% 4 EA S ) HREF! HREF!
A102 Wide x 5'-0" Height) 1" Insulated Glass
172 Al101- Wlnqow Type w-qz: Single Hung Vinyl Window- Double (6'- 2 0% 2 EA S ) HREF! HREF!
A102 0" Wide x 5'-0" Height) 1" Insulated Glass
Sub Total #REF!
09 00 00 FINISHES
GYPSUM BOARD
1ST FLOOR
173 A101 2X8 STUD WALL (EXTERIOR) 20 LF
174 A101 1 Layer of 5/8" Gypsum board One side 182 10% 200 SF S - #REF! H#REF!
A101 4'x8' GB Sheet 7 | Sheets
A101 500' Tape Roll 1| Rolls
A101 Joint Compound 2 | Gallons
A101 1-1/4" Drywall Screws 2 | Pounds
175 A101 1/2" Exterior Sheathing 182 10% 200 SF S - #REF! #REF!

Page 9 of 33




PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
176 A101 2x8 Wood Studs @ 16" O.C 182 10% 200 SF S - #REF! #REF!
177 A101 2x8 Top And Bottom Plate 60 10% 66 LF S - #REF! #REF!
178 A101 R-15 Batt Insulation 182 10% 200 SF S - #REF! #REF!
179 A101 Sealant @ T&B 40 10% 44 LF S - #REF! #REF!
180 A101 2X4 STUD WALL (EXTERIOR) 454 LF
181 A101 1 Layer of 5/8" Gypsum board One side 4132 10% 4,545 SF S - HREF! #REF!
A101 4'x8' GB Sheet 143 | Sheets
A101 500' Tape Roll 7 | Rolls
A101 Joint Compound 23 | Gallons
A101 1-1/4" Drywall Screws 24 | Pounds
182 A101 1/2" Exterior Sheathing 4132 10% 4,545 SF S - H#REF! #REF!
183 A101 2x4 Wood Studs @ 16" O.C 4132 10% 4,545 SF S - #REF! #REF!
184 A101 2x4 Top And Bottom Plate 1362 10% 1,498 LF S - #REF! #REF!
185 A101 R-15 Batt Insulation 4132 10% 4,545 SF S - #REF! #REF!
186 A101 Sealant @ T&B 908 10% 999 LF S - HREF! H#REF!
187 A101 BREEZWAY WALL (INTERIOR) 239 LF
188 A101 1 Layer of 5/8" Gypsum board Each side 4350 10% 4,785 SF S - HREF! #REF!
A101 4'x8' GB Sheet 150 | Sheets
A101 500' Tape Roll 8 | Rolls
A101 Joint Compound 24 | Gallons
A101 1-1/4" Drywall Screws 26 | Pounds
189 A101 2x4 Wood Studs @ 16" O.C 2175 10% 2,392 SF S - #REF! #REF!
190 A101 2x4 Top And Bottom Plate 717 10% 789 LF S - HREF! #REF!
191 A101 R-15 Batt Insulation 2175 10% 2,392 SF S - #REF! #REF!
192 A101 Sealant @ T&B 956 10% 1,052 LF S - #REF! #REF!
193 A101 WALL TYPE-W44bUsx1 (INTERIOR) 149 LF
194 A101 2 Layer of 5/8" Gypsum board Each side 2719 10% 2,990 SF S - #REF! H#REF!
A101 4'x8' GB Sheet 94 | Sheets
A101 500' Tape Roll 5| Rolls
A101 Joint Compound 15 | Gallons
A101 1-1/4" Drywall Screws 16 | Pounds
195 A101 2x4 Wood Studs @ 16" O.C 1359 10% 1,495 SF S - #REF! #REF!
196 A101 2x4 Top And Bottom Plate 448 10% 493 LF S - #REF! #REF!
197 A101 3" Sound Attenuation Blankets 1359 10% 1,495 SF S - #REF! #REF!
198 A101 Sealant @ T&B 597 10% 657 LF S - #REF! #REF!

Page 10 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION . UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
199 A101 WALL TYPE-W44bUsx1 W/ INSULATION (INTERIOR) 46 LF
200 A101 2 Layer of 5/8" Gypsum board Each side 841 10% 925 SF S - #REF! H#REF!
A101 4'x8' GB Sheet 29 | Sheets
A101 500' Tape Roll 2| Rolls
A101 Joint Compound 5 | Gallons
A101 1-1/4" Drywall Screws 5 | Pounds
201 A101 2x4 Wood Studs @ 16" O.C 420 10% 462 SF S - #REF! #REF!
202 A101 2x4 Top And Bottom Plate 139 10% 152 LF S - HREF! #REF!
203 A101 3" Sound Attenuation Blankets 420 10% 462 SF S - #REF! #REF!
204 A101 R-15 Batt Insulation 420 10% 462 SF S - #REF! #REF!
205 A101 Sealant @ T&B 185 10% 203 LF S - #REF! #REF!
206 A101 WALL TYPE-W4bsx (INTERIOR) 598 LF
207 A101 1 Layer of 5/8" Gypsum board Each side 10875 10% 11,963 SF S - HREF! #REF!
A101 4'x8' GB Sheet 374 | Sheets
A101 500' Tape Roll 18 | Rolls
A101 Joint Compound 60 | Gallons
A101 1-1/4" Drywall Screws 63 | Pounds
208 A101 2x4 Wood Studs @ 16" O.C 5438 10% 5,981 SF S - #REF! #REF!
209 A101 2x4 Top And Bottom Plate 1793 10% 1,972 LF S - #REF! #REF!
210 A101 3" Sound Attenuation Blankets 5438 10% 5,981 SF S - #REF! #REF!
211 A101 Sealant @ T&B 2390 10% 2,629 LF S - #REF! #REF!
212 A101 WALL TYPE-W4bx (INTERIOR) 145 LF
213 A101 1 Layer of 5/8" Gypsum board Each side 2639 10% 2,903 SF S - HREF! #REF!
A101 4'x8' GB Sheet 91 | Sheets
A101 500' Tape Roll 5| Rolls
A101 Joint Compound 15 | Gallons
A101 1-1/4" Drywall Screws 16 | Pounds
214 A101 2x4 Wood Studs @ 16" O.C 1320 10% 1,451 SF S - #REF! H#REF!
215 A101 2x4 Top And Bottom Plate 435 10% 479 LF S - #REF! H#REF!
216 A101 Sealant @ T&B 580 10% 638 LF S - #REF! H#REF!
217 A101 WALL TYPE-W6bsx (INTERIOR) 145 LF
218 A101 1 Layer of 5/8" Gypsum board Each side 2639 10% 2,903 SF S - #REF! #REF!
A101 4'x8' GB Sheet 91 | Sheets
A101 500' Tape Roll 5| Rolls

Page 11 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
A101 Joint Compound 15 | Gallons
A101 1-1/4" Drywall Screws 16 | Pounds
219 A101 2x6 Wood Studs @ 16" O.C 1320 10% 1,451 SF S - #REF! #REF!
220 A101 2x6 Top And Bottom Plate 435 10% 479 LF S - #REF! #REF!
221 A101 3" Sound Attenuation Blankets 1320 10% 1,451 SF S - #REF! #REF!
222 A101 Sealant @ T&B 580 10% 638 LF S - #REF! #REF!
223 A101 WALL TYPE-W6bx (INTERIOR) 16 LF
224 A101 1 Layer of 5/8" Gypsum board Each side 297 10% 327 SF S - HREF! #REF!
A101 4'x8' GB Sheet 11 | Sheets
A101 500' Tape Roll 1| Rolls
A101 Joint Compound 2 | Gallons
A101 1-1/4" Drywall Screws 2 | Pounds
225 A101 2x6 Wood Studs @ 16" O.C 148 10% 163 SF S - #REF! #REF!
226 A101 2x6 Top And Bottom Plate 49 10% 54 LF S - HREF! #REF!
227 A101 Sealant @ T&B 65 10% 72 LF S - #REF! #REF!
228 A101 WALL TYPE-W4osx (INTERIOR) 20 LF
229 A101 1 Layer of 5/8" Gypsum board One side 184 10% 203 SF S - HREF! #REF!
A101 4'x8' GB Sheet 7 | Sheets
A101 500' Tape Roll 1| Rolls
A101 Joint Compound 2 | Gallons
A101 1-1/4" Drywall Screws 2 | Pounds
230 A101 2x4 Wood Studs @ 16" O.C 184 10% 203 SF S - #REF! #REF!
231 A101 2x4 Top And Bottom Plate 61 10% 67 LF S - HREF! #REF!
232 A101 3" Sound Attenuation Blankets 184 10% 203 SF S - #REF! #REF!
233 A101 Sealant @ T&B 41 10% 45 LF S - #REF! #REF!
234 A101 WALL TYPE-W4ox (INTERIOR) 50 LF
235 A101 1 Layer of 5/8" Gypsum board One side 453 10% 498 SF S - #REF! H#REF!
A101 4'x8' GB Sheet 16 | Sheets
A101 500' Tape Roll 1| Rolls
A101 Joint Compound 3 | Gallons
A101 1-1/4" Drywall Screws 3 | Pounds
236 A101 2x4 Wood Studs @ 16" O.C 453 10% 498 SF S - #REF! #REF!
237 A101 2x4 Top And Bottom Plate 149 10% 164 LF S - #REF! #REF!
238 A101 Sealant @ T&B 100 10% 110 LF S - #REF! #REF!

Page 12 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
Q ABO QUIP ATERIA BCONTRA OTA
D 0 DETA O 0 » RIPTIO Q A OTAL CO BTOTA
A 0 0 OR CO O
239 A101 WALL TYPE-W4bp (INTERIOR) 34 LF
240 A101 1 Layer of 5/8" Gypsum board Each side 616 10% 677 SF S - #REF! H#REF!
A101 4'x8' GB Sheet 22 | Sheets
A101 500' Tape Roll 2 | Rolls
A101 Joint Compound 4 | Gallons
A101 1-1/4" Drywall Screws 4 | Pounds
241 A101 2x4 Wood Studs @ 16" O.C 308 10% 339 SF S - #REF! #REF!
242 A101 2x4 Top And Bottom Plate 101 10% 112 LF S - #REF! #REF!
243 A101 Sealant @ T&B 135 10% 149 LF S - #REF! #REF!
2ND FLOOR
244 A101 2X8 STUD WALL (EXTERIOR) 11 LF
245 A101 1 Layer of 5/8" Gypsum board One side 100 10% 110 SF S - HREF! #REF!
A101 4'x8' GB Sheet 4 | Sheets
A101 500' Tape Roll 1| Rolls
A101 Joint Compound 1 | Gallons
A101 1-1/4" Drywall Screws 1 | Pounds
246 A101 1/2" Exterior Sheathing 100 10% 110 SF S - HREF! #REF!
247 A101 2x8 Wood Studs @ 16" O0.C 100 10% 110 SF S - #REF! #REF!
248 A101 2x8 Top And Bottom Plate 33 10% 36 LF S - HREF! #REF!
249 A101 R-15 Batt Insulation 100 10% 110 SF S - #REF! #REF!
250 A101 Sealant @ T&B 22 10% 24 LF S - #REF! #REF!
251 A101 2X4 STUD WALL (EXTERIOR) 438 LF
252 A101 1 Layer of 5/8" Gypsum board One side 3986 10% 4,384 SF S - HREF! #REF!
A101 4'x8' GB Sheet 138 | Sheets
A101 500' Tape Roll 7 | Rolls
A101 Joint Compound 22 | Gallons
A101 1-1/4" Drywall Screws 24 | Pounds
253 A101 1/2" Exterior Sheathing 3986 10% 4,384 SF S - #REF! H#REF!
254 A101 2x4 Wood Studs @ 16" O.C 3986 10% 4,384 SF S - #REF! H#REF!
255 A101 2x4 Top And Bottom Plate 1314 10% 1,445 LF S - #REF! H#REF!
256 A101 R-15 Batt Insulation 3986 10% 4,384 SF S - #REF! H#REF!
257 A101 Sealant @ T&B 876 10% 964 LF S - #REF! H#REF!
258 A101 BREEZWAY WALL (INTERIOR) 240 LF
259 A101 1 Layer of 5/8" Gypsum board Each side 4368 10% 4,805 SF S - #REF! #REF!
A101 4'x8' GB Sheet 151 | Sheets

Page 13 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
A101 500' Tape Roll 8 | Rolls
A101 Joint Compound 25 | Gallons
A101 1-1/4" Drywall Screws 26 | Pounds
260 A101 2x4 Wood Studs @ 16" O.C 2184 10% 2,402 SF S - #REF! #REF!
261 A101 2x4 Top And Bottom Plate 720 10% 792 LF S - #REF! #REF!
262 A101 R-15 Batt Insulation 2184 10% 2,402 SF S - #REF! #REF!
263 A101 Sealant @ T&B 960 10% 1,056 LF S - H#REF! H#REF!
264 A101 WALL TYPE-W44bUsx1 (INTERIOR) 150 LF
265 A101 2 Layer of 5/8" Gypsum board Each side 2730 10% 3,003 SF S - HREF! #REF!
A101 4'x8' GB Sheet 94 | Sheets
A101 500' Tape Roll 5| Rolls
A101 Joint Compound 16 | Gallons
A101 1-1/4" Drywall Screws 16 | Pounds
266 A101 2x4 Wood Studs @ 16" O.C 1365 10% 1,502 SF S - #REF! #REF!
267 A101 2x4 Top And Bottom Plate 450 10% 495 LF S - HREF! #REF!
268 A101 3" Sound Attenuation Blankets 1365 10% 1,502 SF S - #REF! #REF!
269 A101 Sealant @ T&B 600 10% 660 LF S - HREF! HREF!
270 A101 WALL TYPE-W44bUsx1 W/ INSULATION (INTERIOR) 46 LF
271 A101 2 Layer of 5/8" Gypsum board Each side 837 10% 921 SF S - HREF! #REF!
A101 4'x8' GB Sheet 29 | Sheets
A101 500' Tape Roll 2 | Rolls
A101 Joint Compound 5 | Gallons
A101 1-1/4" Drywall Screws 5 | Pounds
272 A101 2x4 Wood Studs @ 16" O.C 419 10% 460 SF S - #REF! #REF!
273 A101 2x4 Top And Bottom Plate 138 10% 152 LF S - HREF! #REF!
274 A101 3" Sound Attenuation Blankets 419 10% 460 SF S - #REF! #REF!
275 A101 R-15 Batt Insulation 419 10% 460 SF S - #REF! #REF!
276 A101 Sealant @ T&B 184 10% 202 LF S - #REF! H#REF!
277 A101 WALL TYPE-W4bsx (INTERIOR) 625 LF
278 A101 1 Layer of 5/8" Gypsum board Each side 11375 10% 12,513 SF S - #REF! H#REF!
A101 4'x8' GB Sheet 392 | Sheets
A101 500' Tape Roll 19 | Rolls
A101 Joint Compound 63 | Gallons
A101 1-1/4" Drywall Screws 66 | Pounds
279 A101 2x4 Wood Studs @ 16" O.C 5688 10% 6,256 SF S - #REF! #REF!

Page 14 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
280 A101 2x4 Top And Bottom Plate 1875 10% 2,063 LF S - #REF! #REF!
281 A101 3" Sound Attenuation Blankets 5688 10% 6,256 SF S - #REF! #REF!
282 A101 Sealant @ T&B 2500 10% 2,750 LF S - #REF! #REF!
283 A101 WALL TYPE-W4bx (INTERIOR) 152 LF
284 A101 1 Layer of 5/8" Gypsum board Each side 2766 10% 3,043 SF S - HREF! #REF!
A101 4'x8' GB Sheet 96 | Sheets
A101 500' Tape Roll 5| Rolls
A101 Joint Compound 16 | Gallons
A101 1-1/4" Drywall Screws 16 | Pounds
285 A101 2x4 Wood Studs @ 16" O.C 1383 10% 1,522 SF S - #REF! #REF!
286 A101 2x4 Top And Bottom Plate 456 10% 502 LF S - HREF! #REF!
287 A101 Sealant @ T&B 608 10% 669 LF S - HREF! H#REF!
288 A101 WALL TYPE-W6bsx (INTERIOR) 108 LF
289 A101 1 Layer of 5/8" Gypsum board Each side 1966 10% 2,162 SF S - HREF! #REF!
A101 4'x8' GB Sheet 68 | Sheets
A101 500' Tape Roll 4| Rolls
A101 Joint Compound 11 | Gallons
A101 1-1/4" Drywall Screws 12 | Pounds
290 A101 2x6 Wood Studs @ 16" O.C 983 10% 1,081 SF S - HREF! HREF!
291 A101 2x6 Top And Bottom Plate 324 10% 356 LF S - HREF! #REF!
292 A101 3" Sound Attenuation Blankets 983 10% 1,081 SF S - #REF! #REF!
293 A101 Sealant @ T&B 432 10% 475 LF S - #REF! #REF!
294 A101 WALL TYPE-W4osx (INTERIOR) 24 LF
295 A101 1 Layer of 5/8" Gypsum board One side 218 10% 240 SF S - HREF! #REF!
A101 4'x8' GB Sheet 8 | Sheets
A101 500' Tape Roll 1| Rolls
A101 Joint Compound 2 | Gallons
A101 1-1/4" Drywall Screws 2 | Pounds
296 A101 2x4 Wood Studs @ 16" O.C 218 10% 240 SF S - #REF! H#REF!
297 A101 2x4 Top And Bottom Plate 72 10% 79 LF S - #REF! H#REF!
298 A101 3" Sound Attenuation Blankets 218 10% 240 SF S - #REF! H#REF!
299 A101 Sealant @ T&B 48 10% 53 LF S - #REF! #REF!
300 A101 WALL TYPE-W4ox (INTERIOR) 61 LF
301 A101 1 Layer of 5/8" Gypsum board One side 555 10% 611 SF S - #REF! #REF!

Page 15 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION . UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
A101 4'x8' GB Sheet 20 | Sheets
A101 500' Tape Roll 1| Rolls
A101 Joint Compound 4 | Gallons
A101 1-1/4" Drywall Screws 4 | Pounds
302 A101 2x4 Wood Studs @ 16" O.C 555 10% 611 SF S - #REF! #REF!
303 A101 2x4 Top And Bottom Plate 183 10% 201 LF S - HREF! #REF!
304 A101 Sealant @ T&B 122 10% 134 LF S - #REF! #REF!
305 A101 WALL TYPE-W4bp (INTERIOR) 51 LF
306 A101 1 Layer of 5/8" Gypsum board Each side 931 10% 1,024 SF S - HREF! #REF!
A101 4'x8' GB Sheet 32 | Sheets
A101 500' Tape Roll 2| Rolls
A101 Joint Compound 6 | Gallons
A101 1-1/4" Drywall Screws 6 | Pounds
307 A101 2x4 Wood Studs @ 16" O.C 465 10% 512 SF S - #REF! #REF!
308 A101 2x4 Top And Bottom Plate 153 10% 169 LF S - HREF! #REF!
309 A101 Sealant @ T&B 205 10% 225 LF S - #REF! #REF!
3RD FLOOR
310 A102 2X8 STUD WALL (EXTERIOR) 10 LF
311 A102 1 Layer of 5/8" Gypsum board One side 91 10% 100 SF S - HREF! #REF!
A102 4'x8' GB Sheet 4 | Sheets
A102 500' Tape Roll 1| Rolls
A102 Joint Compound 1 | Gallons
A102 1-1/4" Drywall Screws 1 | Pounds
312 A102 1/2" Exterior Sheathing 91 10% 100 SF S - HREF! #REF!
313 A102 2x8 Wood Studs @ 16" O.C 91 10% 100 SF S - #REF! #REF!
314 A102 2x8 Top And Bottom Plate 30 10% 33 LF S - HREF! #REF!
315 A102 R-15 Batt Insulation 91 10% 100 SF S - #REF! #REF!
316 A102 Sealant @ T&B 20 10% 22 LF S - #REF! H#REF!
317 A102 2X4 STUD WALL (EXTERIOR) 437 LF
318 A102 1 Layer of 5/8" Gypsum board One side 3977 10% 4,375 SF S - #REF! H#REF!
A102 4'x8' GB Sheet 137 | Sheets
A102 500' Tape Roll 7 | Rolls
A102 Joint Compound 22 | Gallons
A102 1-1/4" Drywall Screws 23 | Pounds
319 A102 1/2" Exterior Sheathing 3977 10% 4,375 SF S - #REF! #REF!

Page 16 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
320 A102 2x4 Wood Studs @ 16" O.C 3977 10% 4,375 SF S - #REF! #REF!
321 A102 2x4 Top And Bottom Plate 1311 10% 1,442 LF S - #REF! #REF!
322 A102 R-15 Batt Insulation 3977 10% 4,375 SF S - #REF! #REF!
323 A102 Sealant @ T&B 874 10% 961 LF S - #REF! #REF!
324 A102 BREEZWAY WALL (INTERIOR) 240 LF
325 A102 1 Layer of 5/8" Gypsum board Each side 4368 10% 4,805 SF S - HREF! #REF!
A102 4'x8' GB Sheet 151 | Sheets
A102 500' Tape Roll 8 | Rolls
A102 Joint Compound 25 | Gallons
A102 1-1/4" Drywall Screws 26 | Pounds
326 A102 2x4 Wood Studs @ 16" O.C 2184 10% 2,402 SF S - #REF! #REF!
327 A102 2x4 Top And Bottom Plate 720 10% 792 LF S - HREF! #REF!
328 A102 R-15 Batt Insulation 2184 10% 2,402 SF S - #REF! #REF!
329 A102 Sealant @ T&B 960 10% 1,056 LF S - HREF! HREF!
330 A102 WALL TYPE-W44bUsx1 (INTERIOR) 150 LF
331 A102 2 Layer of 5/8" Gypsum board Each side 2730 10% 3,003 SF S - HREF! #REF!
A102 4'x8' GB Sheet 94 | Sheets
A102 500' Tape Roll 5| Rolls
A102 Joint Compound 16 | Gallons
A102 1-1/4" Drywall Screws 16 | Pounds
332 A102 2x4 Wood Studs @ 16" O.C 1365 10% 1,502 SF S - #REF! #REF!
333 A102 2x4 Top And Bottom Plate 450 10% 495 LF S - HREF! #REF!
334 A102 3" Sound Attenuation Blankets 1365 10% 1,502 SF S - #REF! #REF!
335 A102 Sealant @ T&B 600 10% 660 LF S - HREF! HREF!
336 A102 WALL TYPE-W44bUsx1 W/ INSULATION (INTERIOR) 46 LF
337 A102 2 Layer of 5/8" Gypsum board Each side 837 10% 921 SF S - HREF! #REF!
A102 4'x8' GB Sheet 29 | Sheets
A102 500' Tape Roll 2 | Rolls
A102 Joint Compound 5 | Gallons
A102 1-1/4" Drywall Screws 5 | Pounds
338 A102 2x4 Wood Studs @ 16" O.C 419 10% 460 SF S - #REF! H#REF!
339 A102 2x4 Top And Bottom Plate 138 10% 152 LF S - #REF! #REF!
340 A102 3" Sound Attenuation Blankets 419 10% 460 SF S - #REF! #REF!
341 A102 R-15 Batt Insulation 419 10% 460 SF S - #REF! #REF!
342 A102 Sealant @ T&B 184 10% 202 LF S - #REF! #REF!

Page 17 of 33



PROJECT REVO

Page 18 of 33

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
343 A102 WALL TYPE-W4bsx (INTERIOR) 625 LF
344 A102 1 Layer of 5/8" Gypsum board Each side 11375 10% 12,513 SF S - #REF! H#REF!
A102 4'x8' GB Sheet 392 | Sheets
A102 500' Tape Roll 19 | Rolls
A102 Joint Compound 63 | Gallons
A102 1-1/4" Drywall Screws 66 | Pounds
345 A102 2x4 Wood Studs @ 16" O.C 5688 10% 6,256 SF S - #REF! #REF!
346 A102 2x4 Top And Bottom Plate 1875 10% 2,063 LF S - #REF! #REF!
347 A102 3" Sound Attenuation Blankets 5688 10% 6,256 SF S - #REF! #REF!
348 A102 Sealant @ T&B 2500 10% 2,750 LF S - #REF! #REF!
349 A102 WALL TYPE-W4bx (INTERIOR) 152 LF
350 A102 1 Layer of 5/8" Gypsum board Each side 2766 10% 3,043 SF S - HREF! #REF!
A102 4'x8' GB Sheet 96 | Sheets
A102 500' Tape Roll 5| Rolls
A102 Joint Compound 16 | Gallons
A102 1-1/4" Drywall Screws 16 | Pounds
351 A102 2x4 Wood Studs @ 16" O.C 1383 10% 1,522 SF S - #REF! #REF!
352 A102 2x4 Top And Bottom Plate 456 10% 502 LF S - HREF! #REF!
353 A102 Sealant @ T&B 608 10% 669 LF S - HREF! HREF!
354 A102 WALL TYPE-W6bsx (INTERIOR) 108 LF
355 A102 1 Layer of 5/8" Gypsum board Each side 1966 10% 2,162 SF S - HREF! #REF!
A102 4'x8' GB Sheet 68 | Sheets
A102 500' Tape Roll 4| Rolls
A102 Joint Compound 11 | Gallons
A102 1-1/4" Drywall Screws 12 | Pounds
356 A102 2x6 Wood Studs @ 16" O.C 983 10% 1,081 SF S - #REF! #REF!
357 A102 2x6 Top And Bottom Plate 324 10% 356 LF S - #REF! H#REF!
358 A102 3" Sound Attenuation Blankets 983 10% 1,081 SF S - #REF! H#REF!
359 A102 Sealant @ T&B 432 10% 475 LF S - #REF! H#REF!
360 A102 WALL TYPE-W4osx (INTERIOR) 24 LF
361 A102 1 Layer of 5/8" Gypsum board One side 218 10% 240 SF S - #REF! #REF!
A102 4'x8' GB Sheet 8 | Sheets
A102 500' Tape Roll 1| Rolls
A102 Joint Compound 2 | Gallons




PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION . UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
A102 1-1/4" Drywall Screws 2 | Pounds
362 A102 2x4 Wood Studs @ 16" O.C 218 10% 240 SF S - #REF! #REF!
363 A102 2x4 Top And Bottom Plate 72 10% 79 LF S - #REF! #REF!
364 A102 3" Sound Attenuation Blankets 218 10% 240 SF S - #REF! HREF!
365 A102 Sealant @ T&B 48 10% 53 LF S - #REF! #REF!
366 A102 WALL TYPE-W4ox (INTERIOR) 61 LF
367 A102 1 Layer of 5/8" Gypsum board One side 555 10% 611 SF S - HREF! #REF!
A102 4'x8' GB Sheet 20 | Sheets
A102 500' Tape Roll 1| Rolls
A102 Joint Compound 4 | Gallons
A102 1-1/4" Drywall Screws 4 | Pounds
368 A102 2x4 Wood Studs @ 16" O.C 555 10% 611 SF S - #REF! #REF!
369 A102 2x4 Top And Bottom Plate 183 10% 201 LF S - HREF! #REF!
370 A102 Sealant @ T&B 122 10% 134 LF S - #REF! #REF!
371 A102 WALL TYPE-W4bp (INTERIOR) 54 LF
372 A102 1 Layer of 5/8" Gypsum board Each side 985 10% 1,084 SF S - HREF! #REF!
A102 4'x8' GB Sheet 34 | Sheets
A102 500' Tape Roll 2 | Rolls
A102 Joint Compound 6 | Gallons
A102 1-1/4" Drywall Screws 6 | Pounds
373 A102 2x4 Wood Studs @ 16" O.C 493 10% 542 SF S - #REF! #REF!
374 A102 2x4 Top And Bottom Plate 162 10% 179 LF S - HREF! #REF!
375 A102 Sealant @ T&B 217 10% 238 LF S - #REF! #REF!
Sub Total #REF!
GWB CEILING
1ST FLOOR
376 AA:;%:LZ iﬁin(j;/zszﬂmlsfgr.dcéemng With 12" Metal Resilient 8457 10% 9,303 < S ) 4REEI 4REEI
A101- . .
377 A102 3 1/2" Sound Attenuation Batt Insulation 8457 10% 9,303 SF S - #REF! #REF!
2ND FLOOR
378 /:11%12 iﬁinﬁ;/isg)mlg?grficéellmg With 12" Metal Resilient 8094 10% 8,903 SF S ) 4REFI 4REFI

Page 19 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION . UNIT . COST CoST TOR COST COST TOTALCOST  SUBTOTALS
A101- " . .
379 A102 3 1/2" Sound Attenuation Batt Insulation 8094 10% 8,903 SF S - H#REF! HREF!
3RD FLOOR
380 AAll(z)l2 iﬁnﬁzzs;mls"ogrdc&llmg With 12" Metal Resilient 8094 10% 8,903 SF S ) 4REFI HREFI
A101- . .
381 A102 3 1/2" Sound Attenuation Batt Insulation 8094 10% 8,903 SF S - HREF! HREF!
Sub Total #REF!
TILING
1ST FLOOR
A101- . .
382 A102 Ceramic Floor Tile @ Bath Assumed 788 10% 867 SF S - HREF! HREF!
A101- . :
383 A102 Ceramic Wall Tile @ Bath Assumed 1368 10% 1,505 SF S - HREF! HREF!
A101- . :
384 A102 Ceramic Base Tile @ Bath Assumed 253 10% 278 LF S - H#REF! H#REF!
2ND FLOOR
A101- . .
385 A102 Ceramic Floor Tile @ Bath Assumed 728 10% 801 SF S - #REF! #REF!
A101- . :
386 A102 Ceramic Wall Tile @ Bath Assumed 1350 10% 1,485 SF S - #REF! #REF!
A101- . :
387 A102 Ceramic Base Tile @ Bath Assumed 236 10% 260 LF S - #REF! #REF!
3RD FLOOR
A101- . .
388 A102 Ceramic Floor Tile @ Bath Assumed 728 10% 801 SF S - #REF! #REF!
A101- . .
389 A102 Ceramic Wall Tile @ Bath Assumed 1350 10% 1,485 SF S - #REF! #REF!
A101- . :
390 A102 Ceramic Base Tile @ Bath Assumed 236 10% 260 LF S - #REF! #REF!
Sub Total #REF!

Page 20 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION . UNIT . COST CoST TOR COST COST TOTALCOST  SUBTOTALS
FLOORING
1ST FLOOR
A101- .
391 A102 Carpet Flooring @ Bedroom & Bedroom Closet Assumed 2359 10% 2,595 SF S - H#REF! HREF!
A101- .
392 A102 Hardwood Flooring @ Throughout Assumed 3884 10% 4,272 SF S - #REF! HREF!
A101- .
393 A102 Hardwood Flooring @ Breezeways Assumed 1426 10% 1,569 SF S - HREF! HREF!
2ND FLOOR
A101- .
394 A102 Carpet Flooring @ Bedroom & Bedroom Closet Assumed 2422 10% 2,664 SF S - HREF! HREF!
A101- .
395 A102 Hardwood Flooring @ Throughout Assumed 3864 10% 4,250 SF S - HREF! HREF!
A101- .
396 A102 Hardwood Flooring @ Breezeways Assumed 1080 10% 1,188 SF S - HREF! HREF!
3RD FLOOR
A101- .
397 A102 Carpet Flooring @ Bedroom & Bedroom Closet Assumed 2422 10% 2,664 SF S - H#REF! H#REF!
A101- .
398 A102 Hardwood Flooring @ Throughout Assumed 3864 10% 4,250 SF S - H#REF! H#REF!
A101- .
399 A102 Hardwood Flooring @ Breezeways Assumed 1080 10% 1,188 SF S - H#REF! H#REF!
Sub Total #REF!
WALL BASE
1ST FLOOR
A101-
400 A102 Wood Base @ Throughout Assumed 1991 10% 2,190 LF S - #REF! #REF!
2ND FLOOR
A101-
401 A102 Wood Base @ Throughout Assumed 1917 10% 2,109 LF S - HREF! HREF!
3RD FLOOR

Page 21 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION . UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
A101-
402 AL02 Wood Base @ Throughout Assumed 1917 10% 2,109 LF S - #REF! #REF!
Sub Total #REF!
PAINTING
1ST FLOOR
A101- .
403 A102 Walls Paint 24318 10% 26,750 SF S - H#REF! H#REF!
A101- - .
404 A102 Ceiling Paint 8457 10% 9,303 SF S - HREF! H#REF!
A101- . - .
405 A102 Vinyl Lap Siding Paint 2178 10% 2,396 SF S - HREF! H#REF!
A101- .
406 A102 Wood Base Paint 1991 10% 2,190 LF S - HREF! H#REF!
A101- .
407 A102 Doors & Frame Paint 105 0% 105 EA S - #REF! #REF!
2ND FLOOR
A101- .
408 A102 Walls Paint 24048 10% 26,453 SF S - #REF! #REF!
A101- - .
409 A102 Ceiling Paint 8094 10% 8,903 SF S - H#REF! #REF!
A101- . - .
410 A102 Vinyl Lap Siding Paint 2115 10% 2,327 SF S - H#REF! #REF!
A101- .
411 A102 Wood Base Paint 1917 10% 2,109 LF S - H#REF! #REF!
A101- .
412 A102 Doors & Frame Paint 104 0% 104 EA S - #REF! #REF!
3RD FLOOR
A101- .
413 A102 Walls Paint 24048 10% 26,453 SF S - #REF! #REF!
A101- - .
414 A102 Ceiling Paint 8094 10% 8,903 SF S - #REF! #REF!
Al101- . - .
415 A102 Vinyl Lap Siding Paint 2115 10% 2,327 SF S - #REF! #REF!

Page 22 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
. LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION . COST TOR COST COST TOTALCOST  SUBTOTALS
A101- .
416 A102 Wood Base Paint 1917 10% 2,109 LF S - H#REF! HREF!
A101- .
417 A102 Doors & Frame Paint 104 0% 104 EA S - H#REF! HREF!
Sub Total #REF!
10 00 00 SPECIALTIES
1ST FLOOR
BATH ACCESSORIES
A101- .
418 A408 TAO1: Shower Curtain Rod 70 10% 77 LF S - HREF! HREF!
A101-
419 A208 TA02: 24" Towel Bar 4 0% 4 EA S - HREF! HREF!
A101-
420 A408 TAO03: Robe Hook 3 0% 3 EA S - HREF! HREF!
A101- . . .
421 A408 TAO04: Single Roll Toilet Paper Dispenser 14 0% 14 EA S - H#REF! H#REF!
A101- - .
422 A408 TAO05: Medicine Cabinet 12 0% 12 EA S - HREF! H#REF!
A101-
423 A408 TAO06: 18" Grab Bar 6 0% 6 EA S - HREF! H#REF!
A101-
424 A408 TAO07: 24" Grab Bar 4 0% 4 EA S - HREF! H#REF!
A101-
425 A408 TAO08: 36" Grab Bar 5 0% 5 EA S - HREF! H#REF!
A101-
426 A408 TA09: 42" Grab Bar 3 0% 3 EA S - HREF! H#REF!
A101- .
427 A208 TA10: Folding Shower Seat 2 0% 2 EA S - #REF! #REF!
A101- .
428 A208 TA11: Towel Ring 14 0% 14 EA S - #REF! #REF!
A101-
429 A208 TA12: Offset Shower Controls 12 0% 12 EA S - #REF! #REF!
Al101- .
430 A408 TA13: Plate Glass Mirror 14 0% 14 EA S - #REF! #REF!
Al101-
431 A408 TA14: 12" Grab Bar 2 0% 2 EA S - #REF! #REF!

Page 23 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION . UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
2ND FLOOR
BATH ACCESSORIES
A403- .
432 A408 TAO01: Shower Curtain Rod 70 10% 77 LF $ - H#REF! HREF!
A403-
433 A408 TA02: 24" Towel Bar 11 0% 11 EA S - HREF! HREF!
A403- . . .
434 A408 TAO04: Single Roll Toilet Paper Dispenser 14 0% 14 EA S - #REF! HREF!
A403- . .
435 A408 TAO05: Medicine Cabinet 11 0% 11 EA S - HREF! HREF!
A403- .
436 A408 TA11: Towel Ring 14 0% 14 EA S - HREF! HREF!
A403-
437 A408 TA12: Offset Shower Controls 14 0% 14 EA S - HREF! HREF!
A403- .
438 A408 TA13: Plate Glass Mirror 14 0% 14 EA S - HREF! HREF!
3RD FLOOR
BATH ACCESSORIES
A101- .
439 A408 TAO1: Shower Curtain Rod 70 10% 77 LF S - H#REF! H#REF!
A101-
440 A408 TA02: 24" Towel Bar 11 0% 11 EA S - H#REF! H#REF!
A101- . . .
441 A408 TAO04: Single Roll Toilet Paper Dispenser 14 0% 14 EA S - H#REF! H#REF!
A101- L. .
442 A408 TAO05: Medicine Cabinet 11 0% 11 EA S - HREF! H#REF!
A101- .
443 A208 TA11: Towel Ring 14 0% 14 EA S - #REF! #REF!
A101-
444 A208 TA12: Offset Shower Controls 14 0% 14 EA S - #REF! #REF!
A101- .
445 A208 TA13: Plate Glass Mirror 14 0% 14 EA S - #REF! #REF!
Sub Total #REF!
11 00 00 EQUIPMENTS

Page 24 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION UNIT . COST CoST TOR COST COST TOTALCOST  SUBTOTALS
1ST FLOOR
MISC. EQUIPMENTS
A101- .
446 A40S KE-1: Electric Range 5 0% 5 EA S - H#REF! HREF!
A101- .
447 AL08 KE-2: Electric Range ADA 3 0% 3 EA S - HREF! HREF!
A101- .
448 A40S KE-3: Refrigerator 5 0% 5 EA S - H#REF! #REF!
A101- . . .
449 A208 KE-4: Side By Side Refrigerator ADA 3 0% 3 EA S - #REF! #REF!
A101- .
450 AL08 KE-5: Dishwasher 5 0% 5 EA S - HREF! HREF!
A101- .
451 AL08 KE-6: Dishwasher ADA 3 0% 3 EA S - HREF! HREF!
A101- i
452 AL08 KE-7: Ventilation Hood 7 0% 7 EA S - HREF! HREF!
453 AAil?)é Washer 8 0% 8 EA S - HREF! HREF!
454 AAil?)é Dryer 8 0% 8 EA S - HREF! HREF!
A101- . .
455 A408 Stainless Steel Backsplash Behind Range 20 10% 22 LF S - H#REF! H#REF!
2ND FLOOR
MISC. EQUIPMENTS
A403- .
456 A408 KE-1: Electric Range 8 0% 8 EA S - #REF! #REF!
457 AA‘L%Z KE-3: Refrigerator 8 0% 8 EA S - #REF! #REF!
458 ':i%i KE-5: Dishwasher 8 0% 8 EA S - H#REF! HREF!
A403- i
459 A408 KE-7: Ventilation Hood 8 0% 8 EA S - #REF! #REF!
460 ':i%i Washer 8 0% 8 EA S - HREF! HREF!
461 é\i%i Dryer 8 0% 8 EA S - HREF! HREF!

Page 25 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSINO. DESCRIPTION . UNIT . CcOoST COST TOR COST COST TOTAL COST SUBTOTALS
A403- . .
462 A40S Stainless Steel Backsplash Behind Range 20 10% 22 LF S - H#REF! #REF!
3RD FLOOR
MISC. EQUIPMENTS
A101- .
463 A40S KE-1: Electric Range 8 0% 8 EA S - HREF! HREF!
A101- .
464 A40S KE-3: Refrigerator 8 0% 8 EA S - H#REF! #REF!
A101- .
465 A408 KE-5: Dishwasher 8 0% 8 EA S - HREF! H#REF!
A101- o
466 A208 KE-7: Ventilation Hood 8 0% 8 EA S - HREF! H#REF!
467 AA];l%é Washer 8 0% 8 EA S - HREF! H#REF!
468 ':J:Z)Jé Dryer 8 0% 8 EA S - HREF! H#REF!
A101- . .
469 A408 Stainless Steel Backsplash Behind Range 20 10% 22 LF S - H#REF! H#REF!
Sub Total #REF!
12 00 00 FURNISHINGS
1ST FLOOR
MILLWORK
Upper Cabinetry
470 AAz(Z)é \KAV:iICEa\Zl;TSt 3/4" MDF 3-Sided Box Cover Vent Pipe Paint TO 20 10% P LF S i 4REFI 4REFI
- Wall Cabinet
471 /x‘%; all -abine 99 10% 109 | LF $ - HREF! HREF!
A101- :
bBase Labinetry
A408 Base Cabinetr
- Base Cabinet
472 /x‘%; ase -abine 172 10% 189 | LF $ - HREF! HREF!
A101- Counterto
A408 sountertop
- C tert:
473 /x‘%; ountertop 172 10% 189 | LF $ ; HREF! HREF!

Page 26 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSINO. DESCRIPTION . UNIT . CcOoST COST TOR COST COST TOTAL COST SUBTOTALS
A101- Shelvin
A408 SNEVIng
- 12" D Vinyl Coated Wire Shelvi t Rod At 48" A.F.F
474 ’:i%g 1 eep Vinyl Loated tire shelving at Ro 29 10% 2| IF $ - HREF! HREF!
- 12" D Viny Coated Wire Shelvi t Rod At 54" A.F.F
475 iz%; 2 eep Viny Loated Wire Shelving at Ro 93 10% 103 | IF $ - HREF! HREF!
476 AAz(Z)é 3 12" Deep Vinyl Coat Wire Shelving at 48" A.F.F 20 10% P LF S i 4REF! HREF!
477 AAz(Z)é 4 12" Deep Vinyl Coat Wire Shelving at 54" A.F.F 13 10% 37 LF S i 4REF! HREF!
Al01- PP h
478 A40S 2'-0" x 7'-0" Pantry Cabinet 8 0% 8 EA S - H#REF! #REF!
A101- . . . .
479 A40S Fire Extinguisher Cabinet 2 0% 2 EA S - #REF! H#REF!
2ND FLOOR
MILLWORK
A403- .
Upper Cabinetry
A408 Upper Cabinet
480 AALL(Z; \KAV:iICEa\Zl;TSt 3/4" MDF 3-Sided Box Cover Vent Pipe Paint TO 20 10% P LF S i 4REFI 4REFI
481 i\i%i’ Wall Cabinet 91 10% 100 | LF $ - HREF! HREF!
A403- .
Base Cabinetry
A408 Base Cabinetr
482 i\i%i’ Base Cabinet 159 10% 175 | IF $ - HREF! HREF!
A403- Counterto
A408 sountertop
483 /:i?)z;_ Countertop 159 10% 175 | LF $ - HREF! HREF!
A403- Shelvin
A408 SneVing
484 AAA:‘%Z 5 12" Deep Viny Coated Wire Shelving at Rod At 54" A.F.F 124 10% 136 LF S i 4REF] 4REF]
485 /-\Ai%i 4 12" Deep Vinyl Coat Wire Shelving at 54" A.F.F 53 10% 59 LF S i 4REF] 4REF]

Page 27 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
DETAIL NO. CSI NO. DESCRIPTION . UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS
A403- 0" X 70" .
486 A40S 2'-0" x 7'-0" Pantry Cabinet 8 0% 8 EA S - H#REF! HREF!
A403- . . . .
487 AL08 Fire Extinguisher Cabinet 2 0% 2 EA S - H#REF! #REF!
3RD FLOOR
MILLWORK
Upper Cabinetry
488 AAz(Z)é \’\IAV:lICEaVk\)/lgltlest 3/4" MDF 3-Sided Box Cover Vent Pipe Paint TO 20 10% P LF S i 4REF! HREF!
- Wall Cabinet
489 iz%; all -abine 91 10% 100 | LF $ - HREF! HREF!
A101- .
Base Cabinetry
A40S Base Cabinetr
- Base Cabinet
490 iz%; ase Labine 159 10% 175 | IF $ - HREF! HREF!
A101- Counterto
A408 sountertop
- C tert:
491 iﬂ%é ountertop 159 10% 175 | LF $ ; HREF! HREF!
- 12" D Viny Coated Wire Shelvi t Rod At 54" A.F.F
492 iﬂ%é 2 eep Viny Loated Wire Shelving at Ro 124 10% 136 LF $ ; HREF! HREF!
- 12" D Vinyl Coat Wire Shelvi t 54" A.F.F
493 iﬂ%é 4 eep Vinyl Loat Tire Shelving a 53 10% 59| L $ ; HREF! HREF!
A101- . .
494 A408 2'-0" x 7'-0" Pantry Cabinet 8 0% 8 EA S - HREF! #REF!
A101- . . . "
495 A408 Fire Extinguisher Cabinet 2 0% 2 EA S - H#REF! H#REF!
Sub Total #REF!
2200 00 PLUMBING
COLD AND HOT PIPING
496 P1.0-E3.1 1" Cold Water Pipe 182 10% 200 LF S - #REF! #REF!
497 P1.0-E3.1 1-1/2" Cold Water Pipe 90 10% 99 LF S - #REF! #REF!
498 P1.0-E3.1 1-1/4" Cold Water Pipe 160 10% 176 LF S - #REF! #REF!
499 P1.0-E3.1 2" Cold Water pipe 51 10% 56 LF S - #REF! #REF!
500 P1.0-E3.1 3/4" Cold Water Pipe 1344 10% 1,478 LF S - #REF! #REF!

Page 28 of 33



PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID #REF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
DETAIL NO. CSINO. DESCRIPTION . UNIT . COST CoST TOR COST COST TOTAL COST  SUBTOTALS
501 | P1.0-E3.1 3/4" Hot Water Pipe 1176 10% 1,294 LF S - HREF! HREF!
SANITARY & VENT PIPING
502 | P1.0-E3.1 6" Soil or Waste Pipe 66 10% 73 LF S - HREF! HREF!
503 | P1.0-E3.1 4" Soil or Waste Pipe 133 10% 146 LF S - H#REF! H#REF!
504 P1.0-E3.1 3" Soil or Waste Pipe 911 10% 1,002 LF S - #REF! #REF!
505 | P1.0-E3.1 2" Soil or waste pipe 11 10% 12 LF S - H#REF! H#REF!
FIXTURES
506 | P1.0-E3.1 L-1: Lavatory - Countertop, MFR: Cleveland Faucet Group 39 0% 39 EA S - HREF! #REF!
507 | P1.0-E3.1 L-2: Lavatory - Countertop, MFR: Peerless 3 0% 3 EA S - HREF! #REF!
508 P1.0-E3.1 W-1: Water Closet - Tank Type, Floor Mounted, MFR: 19 0% 19 EA S ) 4REFI HREFI
Mansfield
509 | P1.0O-E3.1 W-2: Water Closet - Handicapped, Tank Type Floor Mounted, 3 0% 3 EA S ) 4REFI HREFI
MFR: Profile
510 | P1.0-E3.1 T-1: Bath Tub/ Shower, MFR: Cleveland Faucet Group 28 0% 28 EA S - #REF! #REF!
511 P1.0-E3.1 S-1: Double Compartment Sink, MFR: Cleveland Faucet 21 0% 21 EA S ) 4REF! HREF!
Group
512 P1.0-E3.1 S-2: Double Compartment Sink, MFR: Cleveland Faucet 3 0% 3 EA S ) HREF! HREF!
Group
513 | P1.0-E3.1 T-3: Step-In-Shower, MFR: Cleveland Faucet Group 11 0% 11 EA S - HREF! HREF!
514 | P1.0-E3.1 T-2: Bath Tub/ Shower, MFR: Cleveland Faucet Group 1 0% 1 EA S - #REF! H#REF!
515 | p1.0-E3.1 T-4: Roll-In Shower- Handicapper, MFR: Cleveland Faucet ) 0% ) EA S ) HREF! HREF!
Group
516 P1.0-E3.1 UB-1: Washing Machine Box, MFR: OATEY 24 0% 24 EA S - #REF! #REF!
517 P1.0-E3.1 WH-1: Electric Water Heater, Capacity: 40 Gallon, MFR: 21 0% 2 EA S ) HREF! HREF!
RHEEM
518 | P1.0-E3.1 Plumbing Riser 126 0% 126 EA S - HREF! #REF!
MISC. ITEMS
519 | P1.0-E3.1 YCO: Yard Clean Out 2 0% 2 EA S - HREF! HREF!
520 | P10-E3.1 Provide Lockable Non- F'reeze Hydrant and Connect To ) 0% ) EA S ) 4REEI 4REEI
Nearest Water Supply Line.
521 | P1.0-E3.1 Provide PRV In Yard Vault 1 0% 1 EA S - HREF! HREF!
522 | P1.0-E3.1 HD: 3" Hub Drain W/ Trap Primer, MFR: ZURN 24 0% 24 EA S - HREF! HREF!
Sub Total #REF!

Page 29 of 33



ADDRESS

Date of Submission

Please confirm/Add price for these items

O&P

#REF!

Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
ABOR/EQ A
» O DETA 0 O » RIPTIO Q A AL CO
A O 0
23 00 00 HVAC
DUCT
523 | P1.0-E3.1 8" X14" Rigid Duct/ Plenum for Supply Air Concealed in Attic 443 10% 487 LF S H#REF! HREF!
524 P1.0-E3.1 9" Dia Flexible Duct 413 10% 454 LF S #REF! #REF!
525 | P1.0-E3.1 8" Dia Flexible Duct 608 10% 668 LF S HREF! H#REF!
526 P1.0-E3.1 7" Dia Flexible Duct 57 10% 63 LF S #REF! #REF!
527 P1.0-E3.1 4" Dia Flexible Duct 283 10% 311 LF S #REF! #REF!
528 | P1.0-E3.1 Return/ Outside Air Ductwork (Concealed) 2055 10% 2,261 LF S HREF! #REF!
EXHAUST FANS
529 PLO-E3.1 Bath Exhaust Fan, 50 CFM, MFR: Panasonic, Model# FV- 2 0% 42 EA s HREFI HREFI
e 0810VSSL1 : ‘ :
Diffuser / Grille
530 | P1.O-E3.1 élz:'\)/(ls SG Ceiling Diffuser W/ Ceiling Radiation Damper, 160 6 0% 6 EA S 4REF! HREF!
531 | pLO-E31 14 X 10 Sg Ceiling Diffuser W/ Ceiling Radiation Dampe, 220 6 0% 6 EA S HREF! HREF!
CFM
532 P1.0-E3.1 18 X12 RG, Wall- Mounted Filter/ Grille Assembly, 600 CFM 24 0% 24 EA S H#REF! H#REF!
533 | p10-E3.1 ééFXNzll SG, Ceiling Diffuser W/ Ceiling Radiation Dampe, 20 o 0% 42 EA S HREF! HREF!
534 | p1LO-E31 éz;'\)/(l 8 SG, Ceiling Diffuser W/ Ceiling Radiation Damper, 200 21 0% 2 EA S HREF! HREF!
535 | p10O-E3.1 éz;'\)/(l 6 SG, Ceiling Diffuser W/ Ceiling Radiation Dampe, 140 6 0% 6 EA S HREF! HREF!
536 | PLO-E3.1 3:'2:'\)/(' 6 SG, Ceiling Diffuser W/ Ceiling Radiation Dampe, 100 18 0% 18 EA S HREF! HREF!
537 | pLO-E31 Trans.fer Grille W/ Dual Grille above Door Minimum 4" Tall X 7 0% 7 EA S 4REEI 4REEI
8" Wide
HVAC EQUIPMENTS
538 PLO-E31 CU - R.1: Outdoor Unit, 1.5 Tons, 600 CFM, MFR: TRANE, 24 0% 24 EA S 4REF 4REF
Model: ATWL6018A1
539 P1.0-E3.1 AH-R.1: Indoor Unit, MFR: TRANE, Model: 2 0% o EA S 4REFI 4REFI
TMMS5A0B24M21SAA

Page 30 of 33




PROJECT REVO

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID #REF!
Q ABO QUIP ATERIA BCONTRA OTA
» O DETA 0 O » RIPTIO Q A OTAL CO BTOTA
A O O OR CO 0
MISC. ITEMS
Provide 36" Long 750W Base Board Heater W/ Thermostat
540 | P1.0-E3.1 For Sprinkler Riser Closet, Equivalent to QMARK Model No. 1 0% 1 EA S - #REF! H#REF!
2543NW W/ QMKTA1ANW.
541 | P1.0-E3.1 Exterior Exhaust Vent 90 0% 90 EA S - #REF! #REF!
542 | P1.0-E3.1 Programmable Thermostat Mounted 44" A.F.F. 24 0% 24 EA S - HREF! #REF!
4" Rigid Metal Vents Providing Exhaust For Dryers. Route To
543 | P1.0-E3.1 Exterior and Terminate W/ Aluminum or Hard Plastic Hood 24 0% 24 EA S - #REF! #REF!

W/ Backdraft Damper.

6" Dia Rigid Metal vent Providing Exhaust for Range Hood.
544 | P1.0-E3.1 Provide Ceiling Radiation Damper & Route to Exterior Wall & 24 0% 24 EA S - #REF! #REF!
Terminate W/ Aluminum Hood Backdraft Damper.

Sub Total #REF!

26 00 00 ELECTRICAL
LIGHT FIXTURE
Light A1: 2- Bulb, 52", 5-Blade Fan/ Light Combo, MFR:

545 | P1.0-E3.1 66 0% 66 EA - #REF! #REF!
Monte Carlo, CAT# BF2-BS i ?
546 | PLO-E31 tl::::gz 2-Bulb, Ceiling Surface Mount Light, MFR: Seagull 21 0% 2 EA S ) HREF! HREF!
ighti
547 | p1L0O-E3.1 tl::::g?' 4-Bilb, ceiling Surface Mount Light, MFR: Seagull 21 0% 2 EA S ) HREF! HREF!
ighti
548 | PLO-E3.1 tl::::: 1-Bulb, Ceiling Surface Mount Downlight, MFR: GM 18 0% 48 EA S ) HREF! HREF!
ighti
549 P1.0-E3.1 Light A5: 3-Bulb, Wall Mount Scone, MFR: OSTWIN 42 0% 42 EA S - #REF! #REF!
550 | P1.0-E3.1 tl::::: 2-Bulb, Ceiling Surface Mount Light, MFR: Seagull 21 0% 2 EA S ) HREF! HREF!
ighti
551 | P1.0-E3.1 Light A7: 1-Bulb, Ceiling Surface Mount Light, MFR: CANARM 6 0% 6 EA S - #REF! #REF!
552 | P1.0-E3.1 Light A8: 1-Bulb, Wall Mounted Scone, MFR: CANARM 36 0% 36 EA S - HREF! HREF!
553 | p1O-E31 E)r(r::;goesy Backup Light: 2-Head, 9-Bulb Per Head, MFR: 12 0% 12 EA S ) 4REEI 4REEI
P1.0-E3.1 U P VTR MRV s A 6 - ! !
554 (Ssl.t::-n;:ta;lre MFR: LSI, Model:MRM-LED-30L-SIL-3-UNV-50 5 0% ) EA S 4REF] 4REF]
ite Li
555 | P1.0-E3.1 SZ‘: Lur‘ninaire, MFR: LS|, Model:MRM-LED-30L-SIL-3-UNV-50 5 0% ) EA S i 4REF] 4REF]
(Site Light)
ite Li

Page 31 of 33



PROJECT REVO

SUBTOTALS

ADDRESS O&P
Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions
BASE BID HREF!
LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
DETAIL NO. CSI NO. DESCRIPTION UNIT . CcOoST COST TOR COST COST TOTAL COST
556 P1O-E3.1 (Ss3i:t:l:.ri'r;|hnta;|re, MFR: LSI, Model:MRM-LED-30L-SIL-3-UNV-50 6 0% 6 EA s ) 4REFI 4REFI
POWER
557 | P1.0-E3.1 Fire Alarm Horn/ Strobe Combo 6 0% 6 EA S - #REF! #REF!
558 | P1.0-E3.1 Fire Alarm Control Manual Pull Station, Wall Mounted 5 0% 5 EA S - #REF! H#REF!
559 | P1.0-E3.1 Disconnect Switch 24 0% 24 EA S - #REF! #REF!
560 | P1.0-E3.1 Duplex Receptacle (WR) 12 0% 12| EA $ - #REF! H#REF!
561 P1.0-E3.1 Weather Proof Enclo§ure W/ Removable Cover For 1 0% 1 EA S ) 4REFI HREFI
Telephone Demarcation
562 | PLO-E3A \é\/eenal;t:;tli?;zof Enclosure W/ Removable Cover For Cable 1 0% 1 EA S ) 4REFI HREFI
563 | P1.0-E3.1 Fire Alarm Flow Switch 1 0% 1 EA S - #REF! #REF!
564 | P1.0-E3.1 Fire Alarm Tamper Switch 1 5% 1 EA S - HREF! #REF!
565 | P1.0-E3.1 Junction Box 97 0% 97 EA S - #REF! #REF!
566 | P1.0-E3.1 Duplex Receptacle (AFI) 447 0% 447 | EA $ - #REF! H#REF!
567 | P1.0-E3.1 Duplex Receptacle W/ Ground Fault 189 0% 189 EA S - HREF! #REF!
568 | P1.0-E3.1 High Voltage or Special Purpose Receptacle 48 0% 48 EA S - HREF! HREF!
569 | P1.0-E3.1 Single Pole Switch 366 0% 366 EA S - HREF! #REF!
570 | P1.0-E3.1 Pull Cord For Handicap "Call For Aid" Alarm 10 0% 10 EA S - HREF! #REF!
571 | P1.0-E3.1 Provide Rough- In For Smoke Alarms W/ Strobe Lights 84 0% 84 EA S - HREF! #REF!
572 | P1.0-E3.1 Provide Lighted or Contrasting color Door Bell Button 3 0% 3 EA S - HREF! HREF!
573 P1.0-E3.1 Cable TV outlet 66 5% 69 EA S - #REF! #REF!
574 | P1.0-E3.1 Low Frequency Sounder Base 66 0% 66 EA S - HREF! #REF!
575 P1.0-E3.1 Thermostat 24 0% 24 EA S - #REF! #REF!
576 P1.0-E3.1 Multi-Media Box For CATV & Tele/ Data 24 0% 24 EA S - #REF! #REF!
577 P1.0-E3.1 Tele/ Data 66 0% 66 EA S - #REF! #REF!
578 | p1LO-E3.1 E;:v;:z T_Ii;ilte Throw Double Pole Switch for Bath Exhaust o 0% 42 EA S ) HREF! HREF!
ELECTRICAL PANELS
579 P1.0-E3.1 Panel HPA: 125A, 240/120V, 1P, 3W 1 0% 1 EA S - #REF! H#REF!
580 P1.0-E3.1 Panel EP-A: 125A, 240/120V, 1P, 3W 6 0% 6 EA S - #REF! H#REF!
581 P1.0-E3.1 Panel EP-B: 125A, 240/120V, 1P, 3W 18 0% 18 EA S - #REF! H#REF!
582 | P1.0-E3.1 Service Panel 6 0% 6 EA S - #REF! #REF!
Sub Total

#REF!

Page 32 of 33




ADDRESS

Date of Submission Please confirm/Add price for these items #REF!
Date of plans Please confirm inclusion in scope #REF!
Comments Please go through all the comments and exclusions

BASE BID #REF!

QTy. W/ LABOR/EQUIP MATERIAL SUBCONTRAC TOTAL UNIT
SR# DWG. NO. DETAIL NO. CSI NO. DESCRIPTION Qry. WASTE WASTE UNIT . CcOoST COST TOR COST COST TOTALCOST  SUBTOTALS

SALES & USE TAX (MATERIAL) 0.000% $ -
BASE BID #REF!
EXCLUSIONS:

anything not mentioned above.

Page 33 of 33



